Roll Number ........eueeeuennee

SETB
Total No. of Printed Pages : 32

B.A./B.Sc. (Semester-I1I) Examination, 2024-25
(For Regular & NC) As per NEP 2020

GEOGRAPHY
Paper Code : GEO-63T-1001 OMR Code : 40

Resource Geography

Time : 3.00 Hours

Section — A For Reg./NC: 40/50 Marks
Section — B For Reg./NC: 40/50 Marks

Total Maximum Marks For Reg./NC : 80/100

Instructions for Students ( BTN o forw fder)

Students are required to read the instructions carefully before starting solving the

question paper.

BT AT Y9 U TT HTAT I i @ Tget Felt FE9mt st 0 | U ey 8
Section — A (@ug - 371)

Do not open the question booklet until
you are asked to do so.

There are 50 Multiple Choice Questions
(MCQ) in the question booklet. All 50
questions are mandatory to solve.

Each question carries 0.80 mark for
Regular and 1 mark for NC students.
There are four options for each questions.
Fill the correct option in the OMR sheet.
Student have to darken only one circle
(bubble) indicating the correct answer on
the OMR Sheet. The circles on the OMR
are to be darkened properly with black/
blue ball pen only.

Fill in all the information (i.e. Roll No.
etc.) or both OMR sheet and question
booklet before starting the question
paper.

Submit OMR to the invigilator after
completion of examination.

Student can leave examination hall only
after completion of examination.
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Deciduous forest is found in :
(a) Temperate region

(b) Equatorial region

(c) Cold region

(d) Desert region

Which country stands first in mica

production?

(a) Brazil

(b) U.S.A

(c) South Africa
(d) India

Selva 1is :
(a) Angled forest
(b) Tropical rainforest

(c) Grassland

(d) Savanna forest

Which country is the largest producer
of Rice?

(a) China

(b) India

(c) Indonesia

(d) United States

Which soil is most suitable for cotton

cultivation?

(a) Red soil

(b) Yellow soil
(c) Alluvial soil
(d) Black soil
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6.

10.

Which i1s the "Region of limited
possibilities of resource development" :

(a) Hot desert region
(b) Grassland
(¢c) Equatorial forest region

(d) Mediterranean sea region

Resource geography is a part of what?
(a) Animal geography

(b) Forest geography

(c) Agricultural geography

(d) Economic geography

Which of the following resources is
related to geography?

(a) Water

(b) Soil

(¢) Mineral

(d) All of the above

An example of the single resourceis :
(a) Nitrogen

(b) Land

(c) Cryolite

(d) Uranium

"Natural resources are provided by
nature and are useful for humans"
whose definition is this?

(a) Mcnau
(b) Fisher
(¢) Zimmerman
(d) Smith
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11.

12.

13.

14.

15.

Terrestrial water resources are not :
(a) Canals

(b) Lakes

(c) Rivers

(d) Ocean

Fresh water on the surface of the

earth is percentage :
(a) 97%

(b) 3%

(c) 10%

(d) 8%

First stage of coal formation is :
(a) Anthracite

(b) Bituminous

(c) Lignite

(d) Peat

Cocoo is :

(a) Seed of a tree
(b) Fruit

(c) Leaves

(d) Tree sap

What is "Sericulture"?
(a) Cultivation of spices
(b) Cultivation of flowers

(c) Cultivation of fruit
(d) Silk production
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16.

17.

18.

19.

20.

Orion, Dacron and Kapron are :
(a) Artificial silk

(b) Substitute for jute

(c) Artificial rubber

(d) None of the above

The Manchester of Russia is :
(a) Moscow

(b) Leningrad

(¢) Kalinin

(d) Ivanono

The most important industrial region

of Germany is :
(a) Ruhr

(b) Neekar basin
(c) Essence

(d) Humburg

Pittsburgh cleve land industrial area

is famous for :

(a) Iron and steel production
(b) Car manufacturing

(c) Textile industry

(d) Chemical industry

Which K.L.M air service is located in?
(a) Netherland

(b) Germany

(¢) Canada

(d) India
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21.

22.

23.

24.

25.

Construction of the Swez Canal was

completed :
(a) 1859
(b) 1869
(c) 1967
(d) 1950

Where i1s the trans-siberian railway
located?

(a) U.S.A
(b) Ukraine
(c) Russia
(d) India

"Kirkuk" is famous for :
(a) Port

(b) Desert

(c) Oil field

(d) Canal

"Pampas' is :

(a) Sea current

(b) Grassland

(c) A bird

(d) None of the above

Laterite is :
(a) Vegetation
(b) Port

(c) Soil type
(d) Fish
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26.

217.

28.

29.

30.

The largest delta in the word is :
(a) Mississippi delta

(b) Amazon delta

(c) Hwang Ho delta

(d) Ganga-Brahmaputra delta

"Plundering Economy" is :
(a) Mining

(b) Milk

(c) Fish

(d) Mixed farming

Which country is called the "country

of forests"?
(a) Russia
(b) Brazil
(c) Congo
(d) India

GRAND BANK is famous for :
(a) Automobile

(b) Fish production

(c) For mining

(d) For tourism

Who

transition theory?

(a) R. Maltnus

(b) Kart Mark

(¢) David Ricardo

(d) Thompson and Notestein

exponents of population

GEO-63T-1001/32

(8)

26.

27.

28.

29.

30.

fova =1 wad o9 Sed B-
(a) Tofafadt S

(b) s e

(c) =M 1 e

(d) TM-SEIgA A1 SRl

“q0 refereee” B-
(a) @19

(b) g™

(c) 7=

(d) fafsra iy

fore 29 &1 o 1 W HEl S 87
(a) &4

(b) st

(c) =

(d) W

e o TGS -
(a) STEMHISTEA
(b) T IR
(c) & fog
(d) T % feag

@ HhAv fagr o wfqaes 97
(a) 3R AT

(b) e T

(c) cfae feref

(d) ofqEs 3 A



31.

32.

33.

34.

35.

"Yellow revolution" is related with :
(a) Pulses

(b) Cereals
(c) Oil seeds
(d) Rice

Which energy resource is known as
the "White Coal"?

(a) Mineral o1l

(b) Coal

(¢) Hydro electricity
(d) Atomic power

Anthracite is :

(a) Mica

(b) City

(c) Type of Coal

(d) None of the above

Bakoo is famous for :

(a) Intensive agriculture
(b) Crude oil

(c) Fisheries

(d) Manufacturing industry

Where is Mocha coffee produced?
(a) Yeman

(b) Indonesia

(c) Brazil

(d) Africa
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36.

37.

38.

39.

40.

Which country is the largest producer
of raw wool?

(a) India
(b) Argentina
(c) Australia

(d) New Zealand

The following is an important textile
center of Japan :

(a) Osaka

(b) Hiroshima
(c) Nagoya
(d) Tokyo

The leading rice producing region of
the world is :

(a) South-Western Asia
(b) Australia

(c) South-East Asia

(d) North Africa

How many agro-climatic zones are
found in India?

(a) 15
(b) 20
(c) 18
(d) 16

Which is renewable power resource?
(a) Coal

(b) Hydropower

(¢) Mineral

(d) Natural gas
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41.

42.

43.

44.

45.

What is truck farming?

(a) Transferred agriculture
(b) Commercial agriculture
(¢c) New agriculture

(d) Specialize agriculture of fruits
and vegetables

Which country is the largest producer
of Tobacco in the world?

(a) China
(b) Brazil
(c) India
(d) Argentina

Who was the father of
revolution" in India?

"White

(a) Norman Borlaug
(b) Sam Pitroda
(¢) Durgesh Patel

(d) Vergnese Kurien

The basis for demarcation of resource
regions 1s :

(a) Elements of nature environment

(b) Elements of human environment

(¢) Natural and human elements
(d) None of the above

Which country is the largest producer
of rubber in the world?

(a) Thailand
(b) Indonesia
(c) Malaysia
(d) China
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46.

47.

48.

49.

50.

The first country in the world to
develop Hydroelectricity is :

(a) China
(b) Norway
(c) U.S.A.
(d) India

Millets are called "Coarse grains"
constitue :

(a) Maize, Jowar, Pulses,
(b) Jowar, Ragi, Maize
(c) Bajra, Ragi, Maize
(d) Jowar, Bajra, Ragi

INDIA has been divided into how
many resource development regions
by the planning commission :

(a) 8

(b) 12
(c) 14
(d) 16

Which is the resource creating factor?
(a) Man

(b) Nature

(¢c) Culture

(d) All of the above

Swez canal connects to :

(a) Red Sea — Mediterranean Sea
(b) Red Sea — Black Sea

(c) Red Sea — Capian Sea

(d) Black Sea — Bay of Persian
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B.A./B.Sc. (Semester-111) Examination, 2024-25
(For Regular & NC)

GEOGRAPHY
Paper Code : GEO-63T-1001

Resource Geography

Section — B (wug — «)

INSTRUCTION ( o)

@)

(i)

(iii)

(v)

(v)

No supplementary answer-book will be given to any candidate. Hence the
candidate should write the answer precisely in the Main answer-book only.
foret off wlanell =1 Wb SW-gfasm T& & SR st wWanE w1 =fed fR A g
S-SR H & T Tl IW e

In Section - B there are 4 questions with internal choice, the candidates have to
attempt all questions each question carries 10 marks for regular students and
12.5 marks for non-collegiate students.

Tug-a ¥ ool 4 T (T fasmed) € wenedl # wsft w9 g A €1 T uw fafia
wenedf % faw 10 i 1 € o wEUS qdenedf F faw 12.5 3 # 2

Make sure that your question booklet has all the 50 questions in Section - A and
4 questions in Section-B. Defection Booklet can be changed within 10 minutes.
- gfeeht | Gt Wue-21 § 50 WY Ud Wue-d & 4 W91 BU T, 3Th! S shiferq) Ffeqol giegen
1 10 fiee # seetern S Henar 2

In section B each question consists subparts which include very short answer
type, short answer type and long answer type questions. The word limit of there
questions 520 words for very short answer, 50 word short answer and 150 words
for long answer. In internal options are given in all the questions.

GUe-9 H T% T A RIHS, TRIAS d Farerms 797 €1 37 I9 il wsg g
AT RIS (20 We8), RIS 50 g d 150 ¥ioe Feeredes weAl &1 ©1 9ol aei #
TR forehed fed gu 2

If there is any difference in English and Hindi version, the English version will be

considered authentic.
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Section — B (wug — «)

Unit - I (3&E - 1)
1. (a) Velds grassland.

Joed W9 % HeM|

Or/31ar
Patagonia plateau.
TSHIT1 TR

(b) Renewable resources.

TR0 HHTEH]

Or/31ar

Types of Coal.
FIA 6 TER|

(¢) Explain the meaning of resources and scope of resource geography.

e k1 31 o faug &5 &1 9uig L

Or /3t

Give an account of world distribution of soil resource.

T TEeE & fava faaeor = faewor difsw

Unit - II (3% - II)
2. (a) Population density.
EREICIRCEIC]
Or /3Aat

European human agglomeration.

[T A TR
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What is birth-rate?
ST 1 72
Or/3¥ar

Non-ecumene regions of the world.
fava & S &=l

Explain the factors affecting distribution of population in the world.

fave § SEE faawor sl qaifead &{d dTcl Shiehl hl ATl il

Or/3gan

What is meant by over population?

S o A B2
Unit — ITI (3&T$ - 111 )

Crop rotation.
T =shl
Or/31ar
Pampas grassland.
T T Y
What do you understand by commercial crop?

MRE oA U 39 T 92 67
Or /379t

Point out two uses of wheat.

K % T ST T

Explain the geographical factors affecting rice production.
FTeel SIS h] YA L el iIfeTeh hehl hi faa=mT shifsiu)

Or /379t

Which regions of world are the major tea producing area and why?

fova & i U &5 TqE =F S 8 8, o 2

GEO-63T-1001/32 (15) [P.T.O.]



SETB
Unit - IV (3&E - IV)

4. (a) Flood management.
Bl ERCE
Or/3¥ar
Land capability.
97 sl &1
(b) Sustainable development.
Haq_faem|
Or /3¥ar
Re-dstribution of water.
el 1 qAfao|
(¢) Discuss the various methods for water conservation.
T TET0T o AR ot fafi=r fafe= ot faa=m sl
Or/3¥ar

Describe economic region of India in brief.

qRA o 3TfYeh Tee o1 Hitra 9ol wifsq)
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